





Slope
Maximalni z zména

Degree of slope =

Percent of slope = ~oe # 100 run

tan &
run

Degree of slope =
Percent of slope =




Raster based GIS grid model

Using the elevations of the surrounding eight
points in a 3 x 3 neighborhood.

To calculate the slope and aspect for cell “F”
needs elevations at point A, B, C, G, K, ], I, E
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1. Calculate east-west gradient:
AX = ((£e + 2725 +Zy) — Z)\+2*Z+Z,)))/8*cell size
2. Calculate north-south gradient:

AY = ((Zy + 2°Z +Zo) — Z+2*Z +Z,))I8*cell size



Slope & Aspect
tan(Slope(F)) = squrt((Ax)2+ (AY)?

tan(Aspect(F)) = Ax / AY



Aspect
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Aspects indicate the steepest downslope direction
Aspects are measured clockwise



